Quadratics

1.5,
(@=p)%=(8—a)’=s] —4s

o =31+ (=)

f= 351+ (8- a)



Cubics

A3 < .S3
(0= B)(a=7)(8 = 1) = s} — dsts — 4} — 2753 + 1851509
= 028+ By + 7P = ls1sa = Bss + (o= Bl — )5 — 7))
by = 0 + 57 + 70 = £(s13 — 333 — o~ F) @~ 1) (8 — )
1< A5

(@ +wh+w?y)? =B +wy+w?a) = +wa+w?p)i=s
(@ +wy+w?p)? = (B+wa+uw®)’ = (v+wf+w’a)’ =s

— 35182 + 9s3 + 3wty + 3wty
- 38182 + 953 + 3wt2 + 3w2t1

=W =W

(@ 4w +w)(a+wy+w?p) =57 —3s,
(B+wy+ w2a)(5 + wa + wz'y) = 5% — 3589
(v +wa+w?B)(y + wh + wa) = s — 35,

a==(s1+ (@ +wb+w?y) + (a+wy +w?B))

— | =

8= 5(31 + (B + wy +w?a) + (B 4 wa + w?y))

v = é(sl + (7 + wo + w?B) + (v + wh + wia))



Quartics

A4<]S4

(o= B)(a=7)(a—=08)(B—7)(B—0)(y—19))*
=((aB +76) — (ay + B6))* - ((af 4+ ~0) — (ad + B7))* - ((ay + B0) — (ad + B7))?

= — 1285357 — 4stsh + 165554 — 45553 — 275153 + 18515955 + 144575955 — 1925, 5357

2.2.2 2.3 2.2 2 3 4 2 3
+ 575553 — 4578554 — 6575354 + 144525554 + 2565 — 27553 — 8051555354 + 1857525354

tr = (aB +70)*(ay + B8) + (ay + B6)*(ad + By) + (ad + 57)* (B +79)
— 3 (o152 + 85251 — 3ty — 353 + (a = B)(a = )@ = 8)(5 — )3 — )y ~ )
ta = (aB +70)(ay + £0)* + (ay + B6)(ad + 57)* + (ad + B7)(af + 75)?

)
(
)
= J(susass + 8551 — 3stss — 353 — (a = B)(a— )@ = 0)(8 = 1)(3 — )y — )

V<]A4

((ay + B8) + w(ad + By) + w?(af + 76))*
= ((ad + B7) + w(af +70) + w’(ay + 6))?
= sg + 93§ + 95?54 — 2459584 — 35158283 + 3wt + 3w2t2
((ay + 86) + w(aB +76) + w?(ad + 57))°
((ad + B7) + w(ay + B0) + w?(af + 7))
= sg + 95:2,) + 95%54 — 245984 — 3515283 + 3wty + 3w2t1

((aB +70) + w(ay + BS) + w?(ad + B7))?

((af +70) + w(ad + B7) + w?(ay + 80))°

((aB +70) + w(ay + B8) +w(ad + 7)) - ((aB +70) +w(ad + By) + w?(ay + B6)) = 55 + 1254 — 35153
((ay + B8) + w(ad + B7) +w? (@B +79)) - ((ay + B6) +w(af + 78) + w?(ad + £7)) = 83 + 1254 — 35153
(a6 + By) +w(aB +8) + w?(ay + B9)) - ((ad + By) + w(ay + BS) + w?(af +7d)) = s3 + 1254 — 35153

p1=af+~v0 = %(52 + ((aB +76) + w(ay + B6) + w(ad + B7)) + ((aB +7d) + w(ad + Bv) + w?(ay + B3)))
pe=ay+ 0= %(52 + ((ay + 88) + w(ad + B7) + w? (B +79)) + ((ay + B80) + w(af +70) + w?(ad + 7))

p3 = ad + By = %(52 + (a6 + By) + w(af + 70) + w?(ay + B6)) + ((ad + By) + w(ay + B6) + w?(af +74)))



1<V

(@+B8—(Y+0))2=(+6—(a+p)?=s? —dsy +4p
(7= (B+0)° = (B+0—(a+7))° =51 —4s2 +dp,
(40— (B47)%=(B+7— (a+0))* = s7 — 45 + 4ps

(a+B—(7+08) - (a+7—=(B+0) - (a+0—(B+7)) = s —4s155 + 8s3

e~ =

o= 01+ (@t B+ 8)+ (@t = (B+)+(a+5—(6+7)
f= 101+ (@4 S~ (+8) + B+~ (a+8) + (545~ (a+)
=101+ (@t = (B8 + B+~ (at8) +(+5— (@+5)

5= 351+ (@t = (B+7) + (B 45— (a+7) + (45— (a+H)



